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B.Com. Programme 5th Semester Examination, 2023

DSE2-COMMERCE
Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.

The question paper contains DSE-2(A) and DSE-2(B).
The candidates are required to answer any one from two papers and
candidates should mention it clearly on the Answer Book.

DSE-2(A)
MANAGEMENT ACCOUNTING

GROUP-A / [T@i%-5 / Gre-&

Answer any ftwo questions 12x2 =24
i usi v IR
- 717 &rad Tex e
P T THPT IR oG
1. Define Management Accounting. Discuss the nature and scope of Management 2+4+6

Accounting.
TET T BT IR BN | FET oI Bl Hepicr Td &R UR < b |
Management Accounting-€3d RSl (5741 Management Accounting-<€3 (8] @3]

! S feT SN 4|
Management Accounting SIRT Tlﬂgﬁ?{ | Management Accounting o) mpﬁr X SIERT
IR BEhe T8 |
2. The expenses budgeted for production of 10,000 units in a factory are furnished 12
below:
X Per Unit

Materials 70

Labour 25

Variable factory overheads 20

Fixed factory overheads (31,00,000) 10

Variable Expenses (Direct) 5

Selling Expenses (10% fixed) 13

Distribution Expenses (20% fixed) 7

Administrative Expenses (fixed ¥50,000) 5

Total Cost of Sales per unit 155

You are required to prepare a budget for the production of 6,000 units and 8,000
units.
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3. The standard cost of a chemical mixture is as under:

8 tons of material A at 340 per ton

12 tons of material B at 60 per ton

Standard yield is 90% of input

Actual Cost for a period is as under:
10 tons of material A at 30 per ton
20 tons of material B at 68 per ton
Actual yield is 26.5 tons

Compute all materials variances.

4. The Hi-Tech manufacturing company is presently evaluating two possible
processes for the manufacture of a toy and makes available to you the following
information:

Process A X) Process B ()

Variable cost per unit 12 14
Sale price per unit 20 20
Total fixed cost per year 30,00,000 21,00,000
Capacity (in units) 4,30,000 5,00,000
Anticipated Sales (next two years in units) 4,00,000 4,00,000

You are required to suggest:

(i)  Which process should be chosen and why?

(i) Would you change your answer as given in the information if you were
informed that the capacities of the two processes are A- 6,00,000 units and
B- 5,00,000 units?

GROUP-B / fqein-4 / @ue<g
5. Answer any four questions
foheel TI¥ U8l T IR S
@ @ 515 2lted Ted wies
P+l FRECT THDT ST oI
(a) Differentiate between Cost Accounting and Management Accounting.
IR IREiehT Ue Uee olRgieh & st 3TaR N |

Cost Accounting @k Management Accounting-<3 3C&J AL @)
Cost Accounting ¥ Management Accounting @ &g fr=ar a@og |

(b) Differentiate between Cost Control and Cost Reduction.
IR FRRIA0T O SITeT & T b &l 37eR b |
Cost Control €% Cost Reduction—&3 (K 21€fF (&741
Cost Control ¥ Cost Reduction @1 e f=Tar E?Fjﬁ?{ |

(c) The following particulars are presented by ABC Ltd.:
Sales- 340,000, Fixed Cost-%12,000, and Variable Cost- 320,000.
Find out: P/V Ratio, Break-Even Sales and Margin of Safety.
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(d) Define Standard Cost. What are the limitations of Standard Costing? 2+4
He AT DF GRATIT BN | AT ART DY HHET a7 8 2

Standard Cost—43 3@l (74 | Standard Costing—4% Fsarelefer & 6 ¢
Standard Cost & & ? Standard Costing T & IfHdES B+ ?

(e) A company has fixed expenses of 90,000 with sales at I3,00,000 and a profit of 6
60,000 during the first half year. If in the next half year, the company suffered a
loss 0f %30,000. Calculate the P/V ratio, break-even point, margin of safety for the
first half year and expected sales volume for next half year assuming that selling
price and fixed expenses remain unchanged.

(f) Discuss different Responsibility Centres. 6
AR ITRaTRIT sl O T b |

fifon Responsibility Centres et SCaTo1 541
4= Responsibility Centres ®T BeThel T8 |

GROUP-C / [q@tt-at / @ue-T
6. Answer any four questions: 3x4=12
foegl T Ueil BT IR S
- BIFfD 2lTe7 Tea wies
P FIRGCT THDT IR I

(a) Define Budgetary Control. 3
OISR fRIATT T TR & |
Budgetary Control-4s ke nS |
Budgetary Control @ aRTST ?@jﬁ?{ I

(b) What is Zero base budgeting? 3
S AR F9ic FATBIAT & 2

Zero base budgeting & ?
Zero base budgeting & &l ?

(c) What is Labour Variance? 3
5 faeRUT T & 2

Labour Variance & ?

Labour variance & &l ?

(d) What is Angle of incidence? 3
SNTITH PIT FT & 2

Angle of incidence 5o
Angle of incidence % & ?
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(e)

(®

What is Shut Down Point?
Shut down fa=g T EIT & 2

Shut down point 53 ?
Shut down point & & ?

What is Transfer Pricing?
ERATRYT oo iR a8 8 2
Transfer Pricing 5o

Transfer pricing & & ?

DSE-2(B)
HUMAN RESOURCE MANAGEMENT

GROUP-A / Telt-3 / @us-a
Answer any ftwo questions
frdigtusi dT SRS
@-F 715 elves Ted e
Pl GFICT THBT IR A

Define Human Resource Management. Briefly discuss the functions of a HR
manager.

A SRATE Fe T ARG X | I SATE Teei & i IR Fard J =i o |
AW oM JIFRANE WG (F141 GFG HR (925 OF) STITSIEE I SRewe
O

I AT aeAToT ARG TEI | AT ARATE Teeichep] PRIgwH feTH HuHT

BAH TR |

What are industrial disputes? Explain the causes of industrial disputes.
3iieifies faTe & & 2 Siigdifiiep faanar & BRur Ja |

[REASCIASR AR AN CI CERQER G RIS BT

3ienfies fare & 8l 2 3itenfie faaraeT BRUEs e T8y |

Define recruitment. Elaborate the modern techniques of recruitment.

FlT T TRUTY BV | HelT DT SMETeb FebriTep! Dl FHSTSY |
facateR ket @4 iR Syl e 3 w1
ol T TIRHTHT oIeRINy, | ATl Mg feh Hfafees iR {81 |
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4.

(a)

(b)

(©)

(d)

(e)

)

Why performance appraisal is required in an organisation? Briefly explain any 6+6

three modern methods of performance appraisal.

fepelt FaT A el qedihd B ATRIDaT I & ? YSIH Jedidd P fbral i

amgfe ARt uR ey H aui o |

@ 93T 2AfSHI FFFTO! R ARG 9 FwTo! FEREE @-@ie foefo Sy

Al AT I T |

IGTHT T2 JeATS T S 3D B ? Wadle Jedrgdd! o I g faften

HfRT U SREAT BN |

GROUP-B / fReri-4/ @vew
Answer any four questions:
foegl TTY Usil T IR S |
@-FI BTG 207 Ted wiss
P+ FRECT THDT IR &% -

Briefly discuss about Human Resource Information System (HRIS).
I HRATE T FUTeAT & IR &Y H =i b |

IR 7% ) PIEBCGR (HRIS) T7F @0 WFERG (15 (741

HIE AATE T T SR HIETH T g6 T8 |

Elaborate the needs of training in human resource management.
TG AATE Ye H HTRT&0T bl STaedehdall &l faedR & 9Ty |
WFRT7 BT LRFFCER SISl Srae T4

HIE HATE FGRATIHT TeTHe] STGLIDATER (AR TR |

What is Job Analysis? Explain the process of Job Analysis.
BT fAISUT T & 2 BRT fAeIor T Hfchar =Sy |

Job Analysis & 9 Job Analysis-a7 @& i<y 411

BRI IO & & 2 I TfshT T ST TR |

Explain the significance of labour welfare to the society.
IS T $TfHP BT BT HEcd HHEATU |

ANCE FICR A P e iyt 41
S DHATVD] Hecd FHSICS b D 56 ?

Explain the various objectives of human resource planning.
AT FATE RIS & [T Igeeat o e & |

R I A [ifon Sowsyefer i $91

IS HATE ST (AT Seedsn eedT T8 |

What do you mean by compensation? Discuss few compensations policies.

3T H AT AT A & ? PO AT ANferd ] IR <l o |
Compensation I510® & @R 9 ﬁ?‘icompensation s Srae 41
&IfTgfcT FTTel & g3 &8 ? el &gl Aifres Bethel THar |
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GROUP-C / Repi-ot / @ue-T
6. Answer any four questions: 3x4=12

feb=e =T T8il T JTR S |
- S5 2ive Ted wies
P+l FRECT THDT IR &% -

(a) What is Voluntary Retirement Scheme (VRS)? 3
R GaTigRT AT T E 2
VRS 3T & @Rl 2
s GaTigRT AT B 8 2

(b) What is 360 degree performance appraisal? 3
360 3iefir Tee i T & ?
360 TO& FFel e F 9
360 fSiT Hee Jeursa T & &l 2

(c) What is fringe benefits? 3
I fedTe™T FAT BT § 2
Fringe benefit 153 ?
Fringe benefits & & ?

(d) What is job evaluation? 3
PR HeATeh T & 2
Job Evaluation f& ¢
B FeATSDHT P 8l 2

(e) What is career development? 3
BRI fdeprr T 8 2
Career Development 53 ?
FIRR T F 81 2

(f) What is potential appraisal? 3

Potential appraisal &7 & ?

Potential Appraisal J&1C® 6 (@14l 9
Potential Appraisal & & ?
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